(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Commerce EXAMINATION: October - 2025 SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	(Intro	ntroduction		у &		Fundamental s of Management		Mathematic		Introduction to Environment		Vocational Skills in Accounting				Communicat		lian /ledge :tem	Foundation of Behavioura		W	nsion ork	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30					
1	24026	FC11025004	/ DHEEGAN MUSKAN RAJU DEEPALI	\$11	\$12	\$14	06	\$10	\$12	\$12	\$12	\$14	\$14	\$13	\$12	\$12	\$12	\$11	\$12	\$12	\$12	\$15	\$12	\$16	\$13	269	92	20.0		F
2	24042	FC11025005	/ DUBEY PAYAL DHARMENDRA PRASAD SANGEETA	\$10	\$15	\$10	12	\$10	\$12	\$9	\$17	\$10	\$19	\$10	\$25	\$10	\$12	\$8	\$12	\$8	\$24	\$10	\$18	\$11	\$21	293	120	22.0	5.45	С
3	24044	FC11025010	GUPTA SOHAN ALAGU PUSHPA	\$14	\$16	\$18	\$12	\$14	\$12	\$14	\$12	\$14	\$17	\$14	\$16	\$11	\$12	\$12	12	\$14	\$14	\$13	\$15	\$10	\$14	300	124	22.0	5.64	В
4	24054	FC11025012	/ JADHAV RIDDHI DINESH DIVYA	\$13	AB	\$12	AB	\$10	AB	\$11	AB	\$13	\$15	\$12	AB	\$11	AB	\$9	AB	\$12	\$12	\$12	AB	\$10	\$12	164	28	6.0		F
5	24321	FC11025021	MEDHE GANESH RAMESH CHANDRAKALA	\$08	\$12	\$08	17	\$08	\$12	\$09	\$23	\$08	\$17	\$08	\$12	\$09	\$13	\$08	\$12	\$10	\$12	\$08	12	\$08	\$19	253	100	22.0	4.55	Р
6	24138	FC11025025	RAM DEEPAK DEVNATH CHANDRAVATI DEVI	\$14	\$12	\$12	\$12	\$15	\$14	\$18	\$12	\$14	\$12	\$13	\$12	\$12	\$12	\$16	12	\$15	\$12	\$15	\$12	\$13	\$12	291	114	22.0	5.18	С
7	24119	FC11025030	SHAIKH MUBASSHIR MANSOOR DEEBA	\$12	\$12	\$17	\$12	\$17	\$13	\$18	13	\$16	\$15	\$17	\$12	\$13	\$13	\$18	\$12	\$18	\$15	\$18	\$15	\$14	\$18	328	140	22.0	6.36	B+
8	24101	FC11025032	SHAIKH SAMEEM SALEEM ZANNATUNNISHA	\$14	\$12	\$14	12	\$15	\$12	\$12	\$13	\$15	\$12	\$12	\$12	\$12	\$12	\$13	\$12	\$14	\$14	\$15	\$12	\$15	\$12	286	108	22.0	4.91	Р
9	24046	FC11025038	VINERKAR PRANAY GANESH SAHILI	\$12	\$14	\$15	\$12	\$13	\$12	\$13	\$14	\$14	\$12	\$16	\$12	\$12	12	\$9	\$12	\$13	\$13	\$13	\$12	\$11	\$12	278	106	22.0	4.82	Р

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater SEMESTER: I

PROGRAMME: Bachelor of Commerce

EXAMINATION: October - 2025

		Buci	icioi di commerce		EXAMINATION: October - 2025																											
Sr. No.	Roll No.	Seat No.	at No. Name		eat No. Name		nerce-I duction	y &		S	amental of		ematic	1	0	Ski	itional	Ski		Comn	ness nunicat	Know	dian /ledge	(dation of	to S	luction ports,	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				to Bus	siness)	Fina	ancial	Mana	gement	S	– l	Enviro	nment	Acco	unting	Acco	unting	ion S	Skills I	Sys	stem	Behav	/ioural	Phy	sical							
				IA 8/20	SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30		SEE 12/30	IA 8/20	SEE 12/30		SEE 12/30							
10	24109	FC11025001	/ AWARE GAURI DATTATRAY SUREKHA	\$14	-		12	\$11	\$13	\$11	\$18	\$13	\$12	\$12	\$12		\$15		\$13	\$13		\$12	\$12	\$14	\$12	279	104	22.0	4.73	Р		
11	24290	FC11025006	/ ENGAWALE PALLAVI VINAYAK SARIKA	\$15	\$12	\$13	\$12	\$16	\$13	\$14	\$15	\$14	\$16	\$13	05	\$11	01	\$9	\$12	\$13	13	\$13	\$12	\$15	\$12	269	96	18.0		F		
12	24222	FC11025008	/ GUPTA KOMAL SAKALNARAYAN ANITA	\$13	15	\$14	18	\$11	\$12	\$14	\$12	\$14	15	\$13	15	\$13	13	\$8	15	\$12	18	\$10	\$12	\$12	18	297	122	22.0	5.55	В		
13	24297	FC11025009	GUPTA MANISH PAPPU ARTI	\$15	\$12	\$12	\$12	\$11	\$12	\$15	\$12	\$16	\$18	\$13	\$12	\$10	\$15	\$10	12	\$15	18	\$12	17	\$13	\$12	294	114	22.0	5.18	С		
14	24248	FC11025013	JAISWAL VIVEK RAKESH SANGEETA	\$14	\$14	\$14	\$12	\$15	\$12	\$18	\$12	\$10	\$12	\$15	\$12	\$13	\$20	\$8	14	\$13	\$12	\$14	\$12	\$15	\$12	293	116	22.0	5.27	С		
15	24298	FC11025018	/ LABANA JASPREETKOUR VINAYSINGH GEETAKAUR	\$16	\$12	\$12	12	\$15	\$12	\$16	\$12	\$16	\$12	\$14	\$12	\$13	\$12	\$15	\$12	\$14	\$17	\$14	\$12	\$13	\$12	295	118	22.0	5.36	С		
16	24252	FC11025033	SHARMA SANTOSH DINESH MAMTA	\$10	\$18	\$8	12	\$10	\$12	\$9	\$12	\$16	\$14	\$10	\$12	\$10	\$12	\$12	\$12	\$15	\$15	\$14	\$12	\$14	\$14	273	110	22.0	5.00	С		
17	24036	FC11025035	THOSAR SAMANYU SANJEEV VARSHA	\$14	\$12	\$13	\$12	\$13	\$12	\$14	\$20	\$14	\$12	\$13	\$12	\$12	12	\$9	\$12	\$13	\$12	\$13	\$14	\$20	\$13	291	114	22.0	5.18	С		
18	24120	FC11025039	/ WAGHMARE ANJALI DILIP PANCHASHILA	\$15	\$12	\$16	\$12	\$14	\$12	\$13	\$13	\$13	\$13	\$15	\$12	\$11	12	\$12	\$12	\$15	\$17	\$14	\$12	\$14	\$13	292	112	22.0	5.09	С		
19	24060	FC11025040	YADAV AMIT RAMAVADH SANGEETA	\$13	16	\$14	12	\$10	\$19	\$13	12	\$10	\$12	\$16	\$15	\$16	\$12	\$08	\$13	\$15	\$14	\$9	16	\$13	\$16	294	120	22.0	5.45	С		
20	24156	FC11025041	YADAV RISHI RAJESH PRAMILA	\$17	\$12	\$17	\$12	\$16	\$12	\$16	\$13	\$18	\$12	\$15	\$12	\$13	\$13	\$13	12	\$14	\$12	\$15	\$12	\$15	\$12	303	122	22.0	5.55	В		
21	24154	FC11025042	YADAV SANDEEP KUMAR HANSRAJ SUGHARA	\$14	\$12	\$13	\$12	\$10	14	\$15	\$12	\$10	\$22	\$16	\$12	\$16	\$12	\$08	12	\$8	\$12	\$9	\$12	\$14	\$12	277	110	22.0	5.00	С		
22	24259	FC11025044	YADAV TARUN PRADEEP SINDHORA	\$14	\$12	\$12	04	\$15	\$12	\$14	\$12	\$13	\$14	\$12	\$12	\$11	\$15	\$10	\$13	\$14	\$12	\$13	\$14	\$15	\$12	275	96	20.0		F		
23	24017	FC11025045	PRACHARI ASHISH MANOJ KAVITA	\$16	\$16	\$15	\$12	\$10	00	\$18	\$12	\$13	\$13	\$17	\$16	\$16	\$12	\$14	\$12	\$18	\$12	\$10	\$12	\$11	\$17	292	118	20.0		F		

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

EXAMINATION: October - 2025

		Duci	icioi di Commerce		EXAMINATION: October - 2023												OLINEOTEIX. 1													
Sr.	Roll	Seating. Iname			merce-l			Funda	_		ncial		duction	ı	ational		ational	_	ness	·	lian	Found		_	ional	Total	Sum	Credits	SGPA	Grade
No.	No.			` _	duction	l '	&	1			ematic to - I Environment A			_	lls in		lls in		nunicat		/ledge	c			rvice	Marks	CG	Earned	1	
				to Bu	siness)	Fina	ncial	Mana	<u> </u>		Enviro	onment	Acco	unting	Acco	unting	ion Skills I		Sys	tem	Behav		Sch	neme	.			1		
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE				1	
				8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30	8/20	12/30				<u> </u>	
24	24106	FC11025002	BANGAL SAHIL AMUL SONIYA	\$15	\$22	\$14	06	\$15	\$12	\$13	\$17	\$15	\$15	\$11	\$12	\$11	\$12	\$10	\$16	\$17	\$12	\$13	\$22	\$19	\$16	315	124	20.0		F
25	24129	FC11025003	/ BHOSALE TANISHA VITTHAL CHITRA	\$14	\$12	\$14	\$12	\$11	\$12	\$17	\$15	\$14	\$12	\$13	\$12	\$11	\$15	\$9	\$12	\$14	12	\$13	02	\$8	17	271	100	20.0		F
26	24005	FC11025007	GHORPADE KRISHNA KISAN KANCHAN	\$15	\$12	\$10	17	\$14	\$12	\$12	\$12	\$15	\$12	\$14	\$12	\$13	\$13	\$11	\$12	\$14	\$12	\$9	\$12	\$20	\$12	285	108	22.0	4.91	Р
27	24166	FC11025011	HIRVE DHANAJI KRUSHNA VENUBAI	\$19	\$21	\$16	\$12	\$18	\$15	\$20	\$14	\$18	\$12	\$18	\$12	\$16	\$15	\$17	16	\$19	\$12	\$19	\$12	\$8	\$12	341	150	22.0	6.82	B+
28	24067	FC11025014	KAMBLE OMKAR PRATAP SUNITA	\$13	\$14	\$12	12	\$14	\$14	\$13	\$26	\$14	\$16	\$12	15	\$11	\$13	\$9	\$12	\$12	\$12	\$13	12	\$19	\$12	300	118	22.0	5.36	С
29	24131	FC11025015	KANOJIYA VISHAL SINODH ANITADEVI	\$12	\$13	\$12	12	\$11	\$12	\$15	\$15	\$14	\$12	\$11	\$12	\$10	\$12	\$8	14	\$12	\$19	\$13	\$20	\$8	\$12	279	110	22.0	5.00	С
30	24105	FC11025016	KAROTIYA VARUN NARESH NEETU	\$18	\$12	\$16	12	\$15	\$12	\$13	\$15	\$15	\$19	\$11	\$12	\$12	\$12	\$13	AB	\$17	\$12	\$13	\$16	\$19	\$12	296	116	20.0		F
31	24203	FC11025017	KATARE PRANAV TUSHAR PINKY	\$14	\$12	\$13	12	\$13	\$12	\$14	\$18	\$14	\$12	\$13	\$13	\$12	\$12	\$13	\$12	\$14	\$12	\$12	\$12	\$8	\$13	280	108	22.0	4.91	Р
32	24116	FC11025019	/ LOKHANDE SUHANA SUNIL MANJU	\$10	\$12	\$8	12	\$10	\$13	\$9	\$16	\$10	\$15	\$10	\$12	\$10	\$16	\$8	\$12	\$8	\$18	\$10	\$18	\$8	\$13	258	100	22.0	4.55	Р
33	24069	FC11025020	MALLAH ADITYA SHIVANAND MEERA	\$13	\$12	\$12	03	\$14	\$16	\$11	\$25	\$14	\$20	\$12	\$12	\$18	\$12	\$11	\$17	\$12	\$12	\$14	\$12	\$8	\$12	292	114	20.0		F
34	24302	FC11025022	PANDEY RAHUL RAJENDRA POONAM	\$17	\$22	\$16	15	\$15	\$12	\$16	\$12	\$18	\$19	\$15	\$21	\$13	\$13	\$12	\$19	\$17	\$26	\$16	\$19	\$18	\$20	371	158	22.0	7.18	Α
35	24242	FC11025023	PRAJAPATI NILESH RANJEET RADHA	\$15	15	\$14	06	\$15	12	\$14	\$13	\$14	\$12	\$12	12	\$12	\$12	\$12	14	\$14	\$12	\$13	12	\$8	\$12	275	98	20.0		F
36	24162	FC11025024	RAEEN MO AADIL MO SALIM JUBEDAKHATUN	\$14	\$12	\$11	\$12	\$16	\$16	\$19	\$12	\$16	\$16	\$13	\$12	\$13	\$16	\$12	14	\$13	\$12	\$14	\$12	\$08	\$12	295	120	22.0	5.45	С
37	24243	FC11025026	RAM ROHITKUMAR SAROJKUMAR USHA	\$14	\$15	\$13	12	\$14	\$14	\$18	\$23	\$14	\$12	\$12	\$15	\$12	\$12	\$10	\$12	\$14	\$12	\$12	\$14	\$18	\$12	304	122	22.0	5.55	В
38	24170	FC11025027	/ SALTE TANVI SANJAY SWATI	\$14	\$14	\$14	\$12	\$12	\$12	\$11	\$12	\$14	\$12	\$13	\$12	\$10	15	\$8	\$12	\$14	\$12	\$10	\$18	\$8	\$12	271	106	22.0	4.82	Р
39	24053	FC11025028	SHAIKH DANISH NASIM ISRAT	\$14	\$12	\$12	\$12	\$12	\$12	\$13	\$12	\$18	\$12	\$13	12	\$11	12	\$11	12	\$14	12	\$15	\$14	\$19	\$12	286	112	22.0	5.09	С
40	24224	FC11025029	SHAIKH MOHAMMED REHAN YAAR MOHAMMED ROSHAN JAHA	\$10	\$14	\$8	04	\$10	\$12	\$9	\$17	\$10	\$12	\$10	\$12	\$10	\$12	\$8	\$12	\$8	14	\$10	\$13	\$8	\$12	235	82	20.0		F
41	24301	FC11025031	SHAIKH RIYAN RASHID ASHABEE	\$16	\$12	\$13	\$12	\$14	12	\$13	\$12	\$14	\$12	\$15	\$12	\$11	\$12	\$10	\$12	\$15	\$12	\$14	\$12	\$18	\$14	287	112	22.0	5.09	С
42	24281	FC11025037	VINAY RANGILAL LALMATI	\$17	\$20	\$14	12	\$13	\$17	\$12	\$12	\$16	\$12	\$13	\$12	\$12	\$13	\$12	\$12	\$16	\$14	\$11	\$15	\$18	\$12	305	126	22.0	5.73	В

(Affiliated to University of Mumbai)

Gorakshnath Complex, Manera Road, Opp. Ram Raksha Hospital, Ulhasnagar - 4, Ulhasnagar

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Commerce

EXAMINATION: October - 2025

		Roll No.	Seat No.	Name	(Introd	duction	у	&	s	mental of gement	Mathe	ematic	t	to	Ski	ational lls in unting	Ski	lls in	Comn	nunicat	Know	/ledge	0	f	to Cı	duction ultural vites	TULAI		Credits Earned		Grade
						SEE 12/30		SEE 12/30		SEE 12/30																	•				
	13	24177	FC11025034	/ THAKUR RAJNI SATISH AARTI	\$14	\$22	\$15	\$12	\$12	\$12	\$13	\$12	\$14	\$12	\$14	\$15	\$13	\$12	\$13	\$12	\$14	\$12	\$13	06	\$14	\$21	297	112	20.0		F
4	14	24080	FC11025036	/ VALMIKI ROSHNI SANJAY SEEMA	\$14	\$16	\$15	\$12	\$12	\$15	\$13	\$12	\$14	\$12	\$12	\$12	\$12	13	\$11	\$12	\$12	\$12	\$11	\$12	\$15	\$13	282	108	22.0	4.91	Р
4	45	24181		YADAV SANDEEP KUMAR RAMSAGAR SANGEETA	\$10	\$12	\$8	05	\$10	\$12	\$9	\$12	\$10	\$12	\$10	\$12	\$10	\$12	\$8	\$12	\$8	\$12	\$10	\$15	\$16	\$12	237	86	20.0		F